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log (L*) LABJIND sample lightness log (L*/L* ) LABJIND sample lightnessL*
L* LHIL* normalized to the
L*= (t/a) In[1+b (Y/YY)] background lightnessL*
a=0.3411 t=88.23 /a=258.6 b=&,=6.14 L*/L* = (&) {In (1 + b (Y/Y) = In (1 +b)}
a=0.3411 t=88.23 t/a=258.6 b=&,=6.14
ad100p 17u7508 Yu=18 1410
log(L* ,)=2.7, m,;=0.43 e
IR 4 i g
I3 . ! L* =508 Y,=18
log[(L*/L* )]=0, m,=0.43 -
24100 ot ! odh1a SOUETLT DI .”r."....:,.—‘
' application P ‘ : application
: range Re 1 range
L 0,1 1 10 4Y,=18100y 1 0,1 ? 10 'Y,=18100y
- -1 0 1 2 log(Y) - -1 0 1 2 log(Y)
YEO021-1N_1 YE021-2N_1
logAY  CIE tristimulus value difference AY log(AY/AY)  CIE tristimulus value difference
AY L= (Ua) In [ 1 + b (YIYy)] aviay, AYnormalized toAY,
a=0.3411 t=88.23 t/a=258.6 b= ,=6.14 L*= (t/a) In [ 1 + b (Y/Yy)]
tristimulus value Y difference a=0.3411 t=88.23 t/a=258.6 b=&=6.14
log(dY)=log[(s+qY)/c] relative tristimulus value Y difference
=log [(1+b-(Y/Y,))/t] 14 10 log@Y/dY,) = log [(1+b: (Y/Y,)) / ] - log [(1+b) /1]

s=0.017 g=0.0058 c=1.5

4
Y,=18, dY,=0.08 dY,/Y,=0.004 R4
’

-2

L*= (AdA2) In (A +AyY)
Ap=1.0  A=0.017 A=0.0058
relative tristimulus value Y contrast

0,1/09(@Y/Y) =log [(AL+Ax"Y) /(Ao V)]
~ application
~ range

log (L*) LABJIND sample lightness log (L*/L* ) LABJIND sample lightnessL*
L* LHL* normalized to the
L*= (AgA)) In (Ap+Ay-Y) background lightnessL*
A=1.0  A=0.017 A=0.0058 L¥L* = In (A +AytY) = In (Ag + AyYy)
A=1.0  A=0.017 A=0.0058
341000 L* =338 Y,=18 1410
log(L* ,)=2.53 m,=0.43 e
SRR R R L* =338 Y,=18
. log[(L*/L* )]=0, m,=0.43 -
24100 ’/ ' odhga SOUETLT DI .”.’"...._.,.—‘
¢ ' application ," : application
: range e 1 range
. 0,1 1 10 1Y,=18100y i 0,1 4 10 1Y,=18100y
- -1 0 1 2 log(Y) - -1 0 1 2 log(Y)
YE020-1N_1 YE020-2N_1
logAY  CIE tristimulus value difference AY log(AY/AY)  CIE tristimulus value difference
AY L*= (AAD) In (Ap + Ag-Y) aviay, AYnormalized toAYy,
A=10  A=0.017 A=0.0058 L= (AgAL) In (Ay+Ay-Y)
tristimulus value Y difference Ap=1.0 A=0.017 Ay=0.0058
log(dY)=log [ (AL + Az Y) / Agl relative tristimulus value Y difference
041 14 10 log(dY/dY) = log (A + Az"Y)
R4 —log (A1 +Az°Y) .
R4 Y,=18, dY,=0.12 dY,/Y,,=0.006 R4
18 0,012 dV/V,=0.008 o log[(dYy(dY)]=0, m=086 __ ,*
~1 Ov-llog(dYFfO.gln\fo.se N 0.1..............;:
Pl 1 application PR 1 application
.- : range P § range
5 0.1 1 10 ,Y,=18100y o 0.1 T 10 1Y,=18100y
- -1 0 1 2 log(Y) -2 -1 0 1 2 log(Y)
YE020-3N_1 YE020-4N_1
log AY/Y) CIE Y based contrast log [(AY/Y) I (AYy/Yy)] CIE Y based contrast
C=(aYIY) C//Cu=(AYIV)(aYTY,) Normalized to AY, /Y,

L*= (Ag/Ap) In (Ap + AyY)
Ag=1.0  A=0.017 A=0.0058
tristimulus value Y contrast
199LdYM/I(AY/Y)] =log [ (A + Az Y) Y]
—log [(Ag+Ax YY) /Yy ]
S . application
~o range

- .

Ogule = -------
log[(dY/YY(dY,/Y,)]=0, m=-0.13 &

“10a YiZ18 d=0.08 dY,Y,=0.00 o g PYEVEWEC MI0EE e
T A L s A
log(dY}=-1.09 m=0.86 ¢y application .’ : application
L ¢ ' range I 1 range
0.1 r” 10 4Y,=18100y 0,1 T 10 1Y,=18100y
—2 _1
- -1 0 1 2 log(Y) -2 -1 0 1 2 log(Y)
YE021-3N_1 YE021-4N_1
log AY/Y) CIE Y based contrast log [(AY/Y) I (AYy/Yy)] CIE Y based contrast
C=(aYIY) C//Cy=(YI)(AYIY,) Normalized to AY, /Y,

L*= (a) In [ 1 + b (Y/Y)]

a=0.3411 t=88.23 /a=258.6 b=&=6.14
tristimulus value Y contrast
-140,2/09(dY/Y)=log [ (1 + b (Y/Y,)) / (t-Y) ]

-~ range

0,01 S

log(dv/¥)=-2.34 m=-0.13 ~ & _
- ..

[V,=18 dY,=0.08 dY,/¥,=0.004 3

application

L*= (t/a) In [ 1 + b (/Y]
a=0.3411 t=88.23 t/a=258.6 b=&=6.14
relative tristimulus value Y contrast
10 10gl(dYM/(@Yy/Yy)] = log [(1+b(Y/Yy)) / (t-Y) ]
=log [(1+b) / (t'Yy) ]
AN application
~ range

- .

Ogul= ---- - -
10gl(dY/YY(dY,/Y,)]=0, m;=-0.13 1

Y,=18, dY,=0.08 dY,/Y,=0.004  }

©

L*= (Ag/Ap) In (Ap + AyY)

Ag=1.0  A=0.017 A=0.0058

relative tristimulus value Y sensitivity
1000 log(Y/dY)=log [ (A;+A2Y) / (Ag"Y)]

L* =338 Y,=18, dY,=0.12 Y,/dY,=148
_ _ logViY=27 mz013

Yo=18, dY,=0.12, dYy/¥,=0
! ! e ' Y,=18, d,=0.12 dY,/Y,=0.006  }
= 0,1 1 10 "Y,=18100y i 0,1 1 10 1Y,=18100y
- -1 0 1 2 log(Y) -2 -1 0 1 2 log(Y)
YE020-5N_1 YE020-6N_1
log (Y/AY) CIE Y based sensitivity log [(Y/AY) I (Yy/AYy)] CIE Y based sensitivity
S=(Y/AY) S5, =(YIAY)/(Y,/AY,) Normalized to Y /AY,

L= (AgA2) In (Ag+Ay-Y)
Ag=1.0  A=0.017 A=0.0058
relative tristimulus value Y sensitivity

10 log[(Y/dY)/(Y/dY)]= 109 [ Y/ (Ar+ Az Y) ]

—log [Yy/ (Ar+ Az Yy) ]

L* =338 Y,=18, dY,=0.12 Y,/dY,=148

= 0,1 1 10 1v,=18100y 4 0,1 1 10 1Y,=18100y
- -1 0 1 2 log(Y) -2 -1 0 1 2 log(Y)
YEO021-5N_1 YE021-6N_1
log (Y/AY) CIE Y based sensitivity log [(Y/AY) I (Yy/AYy)] CIE Y based sensitivity
S=(Y/AY) S5, =(YIAY)I(Y,/AY,) Normalized to Y /AY,

L*= (t/a) In[ 1 + b (Y/Y)]
a=0.3411 t=88.23
tristimulus value Y sensitivity

t/a=258.6 b= ,=6.14

L*=(ta) In [ 1+ b (Y/Y,)]
a=0.3411 t=88.23 t/a=258.6 b=&=6.14
relative tristimulus value Y sensitivity

- - log[(Y/dYY(Y,/dY,)]=0, m=0.13
24100 PR odga OYUMAVY(Y/AYN=0, M013 L
R4 y e Le” | —
. . application . 1 application
y range . 3 range
10 1Y,=18100y L 0,1 1 10 'Y,=18100y
1, 2 log(Y) - -1 0 1 2 log(Y)
YE020-8N_L
YE020-7N

34 1000 log(Y/dY)=log [ (1+b*(Y/Y,) ) / (t'Y)] 14 10 log[(Y/dY)/(Y/dY,)]= log [(t-Y) / (1+b-(Y/Y,) )]
L*,=508 Y,=18, dY,=0.08 Y,/dY,=222 —log [(t'Yy)/ (1+b)]
_ o log(¥/dY)=2.34 m=0.13 I L*,=508 Y,=18, dY,=0.08 Y,/dY,=222
- log[(Y/dYY(Y,/dY,)]=0, m,=0.13
29100 e ' b1 PYCAY QYIS0 M0LS L
P g —— P | mmm=-
application e’ 1 application
range . 1 range
L 0,1 1 10 1Y,=18100y 1 0,1 1 10 1Y,=18100y
- -1 0 1, 2 log(Y) B -1 0 1 2 log(v)
YEO021-7N_1 YE021-8N_1

YE021-7N

TUB-test chart YEO2; LABIJND and LABIND_1 formulae input: w/rgb/cmyk —> w/rgb/cmyk
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Threshold lightness, difference, contrast, and sensitivity output: no change
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